HKAL Physics : Part 5 Atomics Physics

Name : 



Class : 

(
   )

Chapter 20 Radioactivity And Nucleus Quiz 1a






Marks : 

/ 6
1.
Isotopes must have the same


(1)
nuclear binding energy.


(2)
number of protons.


(3)
number of neutron.



A.
(1) only



B.
(2) only



C.
(1) and (2) only



D.
(2) and (3) only

2.
Which of the following travel(s) with the speed of light in vacuum ?


(1)
γ-rays


(2)
infra red radiation


(3)
ultra violet radiation



A.
(1) only



B.
(1) and (2) only



C.
(2) and (3) only



D.
(1), (2) and (3)

3.
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The figure shows the set-up for a gravitational analogue simulation of alpha-particle scattering by a thin metal sheet. What should be the relationship between the height of the ‘hill’ h and the radius of horizontal cross-sections r ?



A.
hr = constant




B.
hr2 = constant




C.
hr-1 = constant




D.
hr-2 = constant

4.
A radioactive source of gamma rays has a half-life of 3 days. A Geiger counter placed 4 m from the source initially has a count-rate of 2 880 per minute. After 6 days the counter is moved back to a distance of 8 m from the source , and its count-rate, in counts per minute, is then



A.
1 440.

B.
720.



C.
360.


D.
180.

5.
Which of the following statements concerning a moderator in a nuclear fission reactor is/are correct ?


(1)
It is used to absorb excess neutrons.

(2)
It is used to slow down the neutrons released during fissions.


(3)
It is used as collant.


A.
(1) only

B.
(2) only


C.
(1) and (2) only


D.
(2) and (3) only

59a.
The following equations represent some typical nuclear reactions: -


(I)
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(II)
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(III)
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Which of the following descriptions of these reactions is/are correct ?

(1)
Reaction (I) represents a spontaneous β-decay.

(2)
Reaction (II) represents a nuclear fusion.

(3)
Reaction (III) represents a chain reaction.


A.
(1) only

B.
(1) and (2) only


C.
(2) and (3) only


D.
(1), (2) and (3)
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